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EEIEZE 59,745, 224
RE&T 59,745, 224
RE&T 59,745, 224
T—Y I REXVVFLI 59,745, 224
T—Y I REIXVE 59,745, 224
1T 8BAREA A 5~100kg/(EFEE 5,012.00 6,442 32,287,304

m3
2 BARRHL ke) +30cm 3, 360. 00 8,172 27,457,920

m2
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% g R - KSR Bifr B 2 B i & B W =
EEIEE 59,745, 224
MEIEE 4,875,210 + 15,004, 864 19, 880, 074
HBREE GDH 4,403,223 + 471,987 4,875,210
HBERER (R) 59,745,224 x 1.37% (5.27% +1.50% +0. 6%) 4,403,223
BEREREE 59,745,224 x 0.79% 471,987
Ri5gEE 64,620,434 x 23.22% (22.22% +1.00%) 15, 004, 864
TER 59, 745,224 + 19, 880, 074 79, 625, 298
—REEES 79,625,298 x 16.12% (16.12% x 1.00) — 2,746 12, 832, 852
LR E 79,625,298 x 0. 04% 31,850
T &l 79,625,298 + 12,832,852 + 31,850 92, 490, 000
HETEALE 92,490,000 x 10.00% 9, 249, 000
FEIZRE 92,490,000 + 9, 249, 000 101, 739, 000
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B BEERA HEB 5~100kg/EEE 1000m 34 Y
2 b g - BIRTE BT o = BHO(f ® # " =
ey 5~100kg/{&@
m3 1, 300. 00 4, 800. 00 6, 240, 000
Bk D 180PSE! 3~5tH
B 1.1 153, 697. 00 170, 603 8H
MR 2E0%
% 0.50 6, 410, 603. 00 32,053
& H 1E%8EH - 1,000.00m 3 6, 442. 00 6, 442, 656
&5 .2
& BAEMHL OkE)  £30cm 1H%Y (18.9m2)
2 b g - BIRTE BT H = BHO(f ® # " =
Bkt D 180PS%E! 3~5tH
B 1.00 153, 697. 00 153, 697 8H
MR EXENOY
% 0.50 153, 697. 00 768
& B YEZERESN  18.90m 2 8,172.00 154, 465




